Tournament	FIDE World Ca	det U8, U10 & U12 Championships
Time	Standard	
Working days	11	
Rest day(s)	1	
Ratio arbiter:players	1:22	22
Number of players	660	< insert here the number of players for your event
Officials	4	< fix in accordance for this tournament
Arbiters	30	< calculated in accordance to total number of players

			stipend *	number	total	
Official 1	<b>Chief Arbiter</b>		2,658€	1	2,658€	
Official 2-3	Deputy Chief A	arbiter	1,925€	2	3,851€	
Official 4	Pairing Officer		1,925€	1	1,925€	
Sector Arbiters	6	< insert the number of sector arbiters	1,315€	6	7,889€	
Match Arbiters (min)	12	< calculated	1,071€	12	12,848€	
Local Arbiters (max)	12	< calculated	611€	12	7,326€	
					36,498€	without travel costs

Rules:

Female arbiters (min)

Continents (min)

Host fed arb (max)

9 < calculated

5 < fix

6 < calculated

Tournament	FIDE World Ca	det U8, U10 & U12 Championships
Time	Standard	
Working days	11	
Rest day(s)	1	
Ratio arbiter:players	1:25	25
Number of players	660	< insert here the number of players for your event
Officials	4	< fix in accordance for this tournament
Arbiters	27	< calculated in accordance to total number of players

			stipend *	number	total	
Official 1	<b>Chief Arbiter</b>		2,658€	1	2,658€	
Official 2-3	Deputy Chief A	arbiter	1,925 €	2	3,851€	
Official 4	Pairing Officer		1,925€	1	1,925€	
Sector Arbiters	6	< insert the number of sector arbiters	1,315€	6	7,889€	
Match Arbiters (min)	11	< calculated	1,071 €	11	11,778€	
Local Arbiters (max)	10	< calculated	611€	10	6,105€	
					34,206 €	without travel costs

Rules:

Female arbiters (min)

Continents (min)

Host fed arb (max)

8 < calculated

6 fix

7 calculated

Tournament	FIDE World Am	nateur Championships
Time	Standard	
Working days	9	
Rest day(s)	0	
Ratio arbiter:players	1:22	22
Number of players	440	< insert here the number of players for your event
Officials	3	< fix in accordance for this tournament
Arbiters	20	< calculated in accordance to total number of players

osts
)

Rules:

Female arbiters (min) 6 < calculated
Continents (min) 3 < fix
Host fed arb (max) 10 < calculated

FIDE World Am	nateur Championships
Standard	
9	
0	
1:25	25
440	< insert here the number of players for your event
3	< fix in accordance for this tournament
18	< calculated in accordance to total number of players
	Standard 9 0 1:25 440 3

			stipend *	number	total	
Official 1	<b>Chief Arbiter</b>		1,964 €	1	1,964€	
Official 2	Deputy Chief A	rbiter	1,414€	1	1,414€	
Official 3	Pairing Officer		1,414€	1	1,414€	
Sector Arbiters	0	< insert the number of sector arbiters	956€	0	0€	
Match Arbiters (min)	9	< calculated	773€	9	6,957€	
Local Arbiters (max)	9	< calculated	458€	9	4,121€	
					15,870€	without travel costs

Rules:

Female arbiters (min)

Continents (min)

Host fed arb (max)

6 < calculated

7 < fix

9 < calculated

## FIDE GUIDELINES FOR STIPENDS OF ARBITERS

Version: November 17, 2023							CA	DCA	PO	Sector	Match	Local									
							%						Rest day	Calculation							
							100	70	70	45	35	25		Working	RestDay	100	70	70	45	35	25
No. COMPETITION	WORKING DAYS	REST DAYS	GSC/EVE	System	K-FACTOR		CA	DCA	Pairing	Sector	Match	Local				CA	DCA	PO	Sector	Match	Local
16 World Championship - Cadets	11	1	EVE	SS	1.2	a day	185 €	130 €	130 €	83 €	65 €	46€	60 €	2,442 €	216€	2,658 €	1,925 €	1,925 €	1,315 €	1,071 €	611 €
17 World Championship - Youth	11	1	EVE	SS	1.2	a day	185 €	130 €	130 €	83 €	65 €	46€	60 €	2,442 €	216€	2,658 €	1,925 €	1,925 €	1,315 €	1,071 €	611 €
18 World Championship - Junior	11	1	EVE	SS	1	a day	185 €	130 €	130 €	83 €	65 €	46 €	60 €	2,035 €	180 €	2,215 €	1,605 €	1,605 €	1,096 €	892 €	509 €
19 World Championship - Senior Individual	11	1	EVE	SS	1	a day	185 €	130 €	130 €	83 €	65 €	46 €	60 €	2,035 €	180 €	2,215 €	1,605 €	1,605 €	1,096 €	892 €	509 €
20 World Championship - Senior Team	9	1	EVE	SS	1.2	a day	185 €	130 €	130 €	83 €	65 €	46 €	60 €	1,998 €	216€	2,214 €	1,615 €	1,615 €	1,115 €	915 €	500 €
21 World Cup - Under 8, 10, 12	9	0	EVE	Mixed	1.1	a day	185 €	130 €	130 €	83 €	65 €	46 €	60 €	1,832 €	132 €	1,964 €	1,414 €	1,414 €	956 €	773 €	458 €
22 World Championship - School Individual	9	0	EVE	SS	1.1	a day	185 €	130 €	130 €	83 €	65 €	46 €	60 €	1,832 €	132 €	1,964 €	1,414 €	1,414 €	956 €	773 €	458 €
23 World Championship - Amateur	9	0	EVE	SS	1.1	a day	185 €	130 €	130 €	83 €	65 €	46€	60 €	1,832 €	132 €	1,964 €	1,414 €	1,414 €	956 €	773 €	458 €
24 World Championship - Disabled	9	0	EVE	SS	1.5	a day	185 €	130 €	130 €	83 €	65 €	46€	60 €	2,498 €	180 €	2,678 €	1,928 €	1,928 €	1,304 €	1,054 €	624 €
25 World Championship - Rapid & Blitz Cadets & Youth	5	1	EVE	SS	1.7	a day	185 €	130 €	130 €	83 €	65 €	46€	60 €	1,573 €	306 €	1,879 €	1,407 €	1,407 €	1,014 €	856 €	393 €
26 World Championship - Rapid & Blitz Junior	5	1	EVE	SS	1.5	a day	185 €	130 €	130 €	83 €	65 €	46 €	60 €	1,388 €	270 €	1,658 €	1,241 €	1,241 €	894 €	756 €	347 €
27 Olympiad U16	6	0	EVE	SS	1.3	a day	185 €	130 €	130 €	83 €	65 €	46 €	60 €	1,443 €	156 €	1,599 €	1,166 €	1,166 €	805 €	661 €	361 €
28 World Championship - School Team	4	0	EVE	SS	1.5	a day	185 €	130 €	130 €	83 €	65 €	46€	60 €	1,110 €	180 €	1,290 €	957 €	957 €	680 €	569 €	278 €

<sup>\* &</sup>quot;rest days + arrival and departure days" are included in the calculations

This scenario is exemplified by events such as the World Cup, where their payment is calculated exclusively for the days they are actively present and officiating matches.

Payment is in Euro

#### Proposal ARB about travelling:

- \* EVE-tournaments: always economy class for CA, DCA, PO: up to 700 Euro from same continent or 1.300 Euro from other continent (if within continent the distance is more than 2.000 km, than it's same value like other continent)
- \* EVE-tournaments: for other arbiters: up to 500 Euro from same continent or 1.000 Euro from other continent (if within continent the distance is more than 2.000 km, than it's same value like other continent)
- \* for local arbiter that doesn't stay in hotel covered by organizer: travelling costs have to be covered for 100% (by public transportation)
- \* once an arbiter is appointed, he has to get the ticket within 10 days
- \* organiser provides the transport of all arbiters from closest international airport to the hotel (arrival) and from the hotel (departure) as well as transport from hotel to playing hall, else organiser covers the costs of taxi

### Proposal ARB about Hotel:

- \* EVE-tournaments for CA, DCA, PO: minimum 4\* hotel, others 3\* hotel
- \* single room for CA, DCA, PO,
- \* double room for Sector arbiters and Match-Arbiter, with possibilty to get single room (arbiter pays the difference)
- \* meals to cover by organizer (for all, also for local arbiters)

## Proposal ARB about payment:

- \* payment must be done within 10 working days after last round, providing the organizer all bank account details
- st in exceptional situations FIDE can decide to ask organizer to pre-finance up to 100% of the flight costs.
- \* side events (example: blitz tournament in the evening) are not included and must be paid extra to the arbiters involved
- \* extra costs (example: using arbiters printer) must be reimbursed by organizer

<sup>\*\*</sup> If match arbiters are only engaged for a portion of the tournament, their compensation is determined based on the specific duration of their involvement.